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���� �� �	
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ر��� 

�� را ���

ه�.  
�ل ���ل  NaClا��  .ا	%...............در اب  ا

  .دار��................. 0.ل �.ج و .............. ���.ه
� (�ا��-, �+�% �* (�و	�خ ا��ژ� 

�6..............	�5 ��4ن �2.����1 ���.  


ز� 786 �* : *�.;�  .�+@?� دارد...............و......................و...............<=1 �> 
  

  ه� �> از ���Dه
� ز�� C* ر�?� �* B46* ���ه��؟
�                                         1��	1�@�  

  
  در ه� �> از �.ارد ز�� از ��ام �
دF ا	@-
د F��E.د؟

Hب- ا�                              
  �M+.ل L.ا�K- �� ��دن �
�� J.دروه

P %J�O ه
� ر6@* ا�-پ	  
  

��+�.�� �Q	 <� ه� در���ن 
E��.ن را 
R 786 ز�� ��ام.  

  
  

 �.R %@* ا�8@�و��	* د	اد ز�� را �* .�–H�4T %1 ���� ���� ا�8@�و���+U� %ا�8@�و�� ��L و.  

V–ا	@.ن �� (NaCl)	�����B� 1–) NH٣(ا�.

�.R %ا�8@�و��   H�4T %ا�8@�و��%  ا�8@�و�� ��L  
      

  
  
  


ر @J
�.و�\ �����
ت ز�� را ر	1 	
����.  

HCN                                                             SO٢  
  
  
  

  
��QJ ��E ا�1 ه��روژن  H�0 و �* ��ام در ��
ر bJ ر�?� و�.د دارد ا�QJ a.ط C* 0.ل �.�� دار
C

��؟.E�� .ط���ل 
U@�  ا
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م �
 (��.ل �6;��
ت �.�� ز�� را ��.�+�������.  
MgSO٤                                 Li٢COت                              ٣
-+) 1�	
@�  

  

  
  .	.اPت ز�� �
	h ده�� �*
  

Hا� - ���� H��4� را ���i� ل���  .ا
  
  

  ��k.ر از 	. %J	��C j+%؟-ب
  
  
  

  اوزون در ��ام �R *�Pار :�(@* ا	% و �8B;� *Cد� دارد؟-پ
  
  

�* ��@.ان از اب در�
 -ت.?CMg  @��اج ��د؟	ا  
  
  
  


� -ث
  �؟�Cا؟در ���ان ا�8@���8 �
% :��� ���8  ��NO  ,   O٢ا��> از �.�8.�
  
  

م ����� �.�8.�� -ج�N٢Oز�؟    ٥
� 

دF ا�+�� ا	��� ا	% �� aرا ��.�+�� ا�  
  
  
�2
 ه?jان در 2ب < 7��E.د؟�Cا؟-چ  
  
  
�QU* �.ش -حH٢O  , H٢S     ���� *+�
U� 7ذ�� د�� 
  .را �
  
  
  

�D�� ���.6@* و 6;
رF دورBr F ٣٥ 2را�, ا�8@�و ��=� �

زه: 
� �+�.� *K�J را را �* روش Fو :�و
���� u�E�.  

  
  
  

���� *�  .وا��, ز�� را �.از
P٤O١٠ +  H٢O →  H٣PO٤ 

  

�B.ل  �٢٥٠
�*  ��ا�� �@�� �B��NaOH  ز دار�1؟ ٥/٠
�� Fد
� aم از ا��: ��C *� رP.�  
(Na=٢٣       O=١٦      H=١  g/mol)                                                                                   
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�6 ا:� (�اوا�� ا�jو�.پ 	�?�٤٢X       a    ,     X ٤٠دو ا�jو��وپ ���D� دارا� ����6  ٢٠
� �Kدر
���� *�	
��?�a را �
  .��م ا�;� ��

  
  
  
  

��

V(در 	�@j ه��
م وا��, را ��.�+��-ا�H) �.��� ا�.=�
��* ��ا� ا� b�6ا�.  

7K را ��ا	
ز� ��د؟-ب> V
���* ��@.ان ا�..?C  
  
  
  


	�* ���� ١٨را در   KI:�م  ٧��Uار ��B.ل را �� ���� �Kا�1 در Fم 2ب <7 ��د�:.  
  
  
  


 ��Uار ��
	�  MnO٤:�م   ٤/١٧از وا��, �HCl  �B� ز
: �@�� ��C ارد��
�.���   (Cl٢)در �6ا�b ا	@
 (g/mol   ١٦=O,   ٥٥=Mn)��E.د؟  

MnO٤ + ٢ HCl→MnCl٢ + Cl٢ +  ٢ H٢O                                                                 
  
  
  
  
  
  

 *�.� 
�;.دار �* 	.اPت �
	h ده��� *�.  

  
   Hل -ا����
دF؟ KNO٣ا��: 

:�� ا	% ���:  
  

� ١٠٠را در  KNO٣:�م �;>   ٢٠��Uار  c◦٦٠ ا:� در د�
�- ب    *C 1��� 7> م 2ب�:%	�� ��.B�  .ع �
�- F�E	��F�6(�� ا��؟��	-F�6��	ا�)                         (  

�B.ل 	�� F�6 ��	% ��2؟ ١٠٠در  ��CKCl :�م  c◦٣٠در د�
� -پ� 
  :�م 2ب <1��� 7 �
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